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ÁR;sd Á’u dh vf/kekurk 2ÁR;sd Á’u dh vf/kekurk 2ÁR;sd Á’u dh vf/kekurk 2ÁR;sd Á’u dh vf/kekurk 2----5 5 5 5 vadksa vadksa vadksa vadksa dh gSAdh gSAdh gSAdh gSA 

lgh fodYi dk p;u djsa % 
(Choose the right option) : 

¼61½ dksf’kdk esa xq.klw= dgk¡ ik, tkrs gSa\ 
 Where are chromosomes found in a cell ? 

 (i) dsUæd ¼nucleus½   (ii) dksf’kdk (cell)   

(iii) rkjddk; (centrosome) (iv) dod (fungus) 

 
¼62½ fuEufyf[kr esa ls fdldks ihVdj iryh pknjksa esa ifjoÆrr fd;k tk  

ldrk gS\ 
 Which of the following can be beaten into thin sheets ?  

 (i) tLrk (Zinc)  (ii) QkWLQksjl (Phosphorus)  

(iii) xa/kd (Sulphur)  (iv) vkWDlhtu (Oxygen) 
 
¼63½ ;hLV dk mi;ksx fuEu ds mRiknu esa gksrk gS % 
 Yeast is used in the production of : 

(i) phuh (Sugar)      (ii) ,Ydksgy (alcohol) 

(iii) gkbMªksDyksfjd vEy (hydrochloric acid)   (iv) vkWDlhtu (Oxygen) 

 

¼64½ lw{e tho dgk¡ ik, tkrs gSa\ 
 Where are microorganism found : 

 (i) ty (water)   (ii) ok;q (air) 

 (iii) feÍh (soil)   (iv) buesa ls lHkh (all of these)  

 

¼65½ bysDVªkWuksa ds Áokg dks dgrs gSa % 
 Flow of electrons is called : 

 (i) fo|qr /kkjk (electric current)  (ii) bysDVªksM (electrode) 

 (iii) fo|qr vi?kV; (electrolyte)  (iv) fo|qr ysiu (electroplating)  

 

¼66½ fuEu esa ls dkSu&lk vkgkj fd’kksjksa ds fy, loksZfpr gS % 
 The right meal to adolescents corsists of : 

(i) fpIl] uwMYl] dksd (chips, noodles, coke)   

(ii) jksVh] nky] lfCt;k¡ (Chapati, dal, vegetable) 

(iii) pkoy] uwMYl] cxZj (rice, noodles, burger) 

(iv) jksVh] fpIl] yseu is; (Chapati, chips, lemon drink) 

 

¼67½ Áfr bdkÃ {ks=Qy ij yxus okys cy dks dgrs gSa % 
 The force applied on unit area is called : 

 (i) rki (heat)    (ii) nkc (Pressure) 

 (iii) vfHkd"kZ.k (Pull)  (iv) vid"kZ.k (Push) 

 

 

 

 



 

 

¼68½ L.P.G dk tyuk ,d mnkgj.k gS % 
 The burning of L.P.G is an example of : 

(i) rhoz ngu dk (rapid combustion)   

(ii) Lor% ngu dk (spontaneous combustion)  

(iii) ean ngu (slow combustion) 

(iv) foLQksV dk (explosion)  

 

 

¼69½ ,d ;qXeut esa ik, tkus okys dsUædksa dh la[;k gksrh gS % 
 The number of nuclei present in a zygote is : 

(i) ,d (one)  (ii) nks (two) 

(iii) pkj (four)  (iv) buesa ls dksÃ ugha (None of these) 

 

¼70½ lkekU; us= ds fy, Li"V ns[kus dh U;wure nwjh D;k gksrh gS\ 
 What is least distance for distinct vision for normal eye ? 

 (i) 20 cm (ii) 25 cm (iii) 45 cm (iv) 100 cm 

 

¼71½ [kjhQ Qly ds mnkgj.k gSa % 
 Example of Kharif crops is  : 

 (i) xsgw¡ (Wheat)   (ii) puk (gram) 

 (iii) eVj (Pea)   (iv) /kku (Paddy) 

 

¼72½ i`Foh ds fudVre dkSu rkjk gS\ 
 Which star is nearest to earth ?  

 (i) e`x (orion)   (ii) 'kÆe"Bk (cassiopeia) 

 (iii) lw;Z (Sun)   (iv) /kzqorkjk (Pole star)  

 

¼73½ fuEufyf[kr esa dkSu xzg ugha gS % 
 Which of the following is not planets ? 

 (i) lhfj;l (Sirious)  (ii) eaxy (Mars) 

 (iii) cq/k (Mercury)   (iv) 'kfu (Saturn)  

 

¼74½ ?k"kZ.k dks c<+k;k tk ldrk gS % 
 Friction can be increased by :  

(i) 'kfDr (Power)  (ii) fpduk lrg (Smooth surface) 

(iii) rsy (oil)   (iv):[kM+k (rough surface)  

 

¼75½ fuEufyf[kr esa dkSu ÁkÑfrd js’ks gSa\  
 Which of the following is a natural fibre ?  

 (i) Åu (wool)  (ii) ukbykWu (Nylon) 

 (iii) js;kWu (Reyon)  (iv) ikWfyFkhu (Polythene) 

 

¼76½ vfÁ; /ofu dks dgrs gSa % 
 Unwanted sounds are called : 

(i) 'kksj (noise)  (ii) laxhr (music) 

(iii) d.kZiVg (cardrum) (iv) 'kksj Ánw"k.k (noise pollution)  

 

 

 

 

 



 

 

¼77½ fuEufyf[kr esa ls fdls ?k"kZ.k }kjk vklkuh ls vkosf’kr ugha fd;k tk  
ldrk\  

 Which of the following cannot be charged easily by friction ?  

(i) IykfLVd dk iSekuk (A plastic scale) 

(ii) rk¡cs dh NM+ (A copper rod)  

(iii) Qwyk gqvk xqCckjk (An inflated balloon) 

(iv) Åuh oL= (A woolen cloth)   

 

 

¼78½ gok dk eq[; Ánw"kd xSl dkSu gS\ 
 Which  gas is the major pollutant of air ? 

(i) dkcZu eksuksDlkbM (Carbon monoxide)  

(ii) ukbVªkstu (Nitrogen) 

(iii) vkWDlhtu (Oxygen) 

(iv) Áksisu (Propane) 

 

¼79½ Hkkjr esa jk"Vªh; m|ku dh dqy la[;k gS % 
 The total numbers of national park in India is : 

(i) 10  (ii) 20  (iii) 77  (iv) 55 

 

¼80½ dkSu ,d ÁkÑfrd lalk/ku ugha gS\ 
 Which one is not a natural resource ?  

(i) ty (Water)   (ii) gok (air) 

(iii) diM+k (cloth)   (iv) feÍh (Soil) 

 

Answer 

61 (i) 

62 (i) 

63 (ii) 

64 (iv) 

65 (i) 

66 (ii) 

67 (ii) 

68 (i) 

69 (ii) 

70 (ii) 

71 (i) 

72 (iii) 

73 (i) 

74 (iii) 

75 (i) 

76 (i) 

77 (iv) 

78 (i) 

79 (iii) 

80 (iii) 

 


